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AUTOEVALUACION

Resta de Vectores
OPCIONES DE

PROBLEMA RESPUESTA ORIENTACIONES
Dados los vectores 1 G-b=(-22) NCoRRECTO
d=(23); b=(41) ’
Halla:
i b 2 7T A
a-b i—b=(-22) : 17 =
1.

3 G- b=(-22) R

4 da-b=(-22) (_ﬁ(«‘-‘ﬁ\
Dados los vectores 1 G- b=(13)
i=41; b=(21 GRROR

4 i x ’NCORRECTO

Dados los vectores 1 B (77[[/5 N
d=(-41); b=(2-3) d— b=(-64) W Z->'

Felicitaciona=s

Dados los vectores 1 . @@
4. da=(42); b=(1,-2) d—b=(-3-2) S



Dados los vectores
i=32); b=(-3-2)

Dados los vectores
d=(12); b=(-64)

Dados los vectores
di=(3,-2); b=(=61)

d— b=(34)
i—b=(1-4)
d— b=(35)
d—b=(2-4)
i— b=(64)
i—b=(2-2)
i—b=(21
i—b=(4-1)
i—b=(7,-2)
d—b=(31)
d— b=(34)
i—b=(43)
i—b=(74)
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Felicitacionaes
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Felicitacionaes

RESPULLSTA INCORRECTA
T L AL DTRA VES

ERROR

RESPULLSTA INCORRECTA
ETEM AL DYRA VES
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Dados los vectores
d=(2-2); b=(-4-1)

8.
Dados los vectores
d=(3,-5); b=(-42)
9.
Dados los vectores
d=(0,-5); b=(42)
10.

d—b=(9-3)
d— b=(10,8)
d—b=(3-1)
d—b=(6-1)
d—b=(2-3)
i—b=(43)
d— b=(1,-4)
i—b=(3-2)
d—b=(53)
i—b=(7,-7)
d—b=(52)
d— b= (—4-7)
d—b=(1-4)
d—b=(2-4)
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